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AL HRES TR ST 735 ouT IN GROSS HDCP NET
1|htE = Bt T =7 &b I 7B 38 40 78 9.6 68.4
2|@m gE B T =7 &hbh I 7B 44 40 84 15.6 68.4
3[&M H#H— Bt T =0 &b T 7EEE 42 45 87 18.0 69.0
4laTE = B FrU—bLXTLTI5T 56 43 99 30.0 69.0
5|H%H BEF Zik T =7 &hh 3L 7 {EEE 41 38 79 9.6 69.4
6|1LHE #—Ep Bk F YTy RILTILTEEE 42 49 91 21.6 69.4
7|EE BE BH FrU—bLXTLT7I5T 45 46 91 21.6 69.4
8|4 B Bk FAF VXA b U —BEER 35 37 72 2.4 69.6
9EA B8 BH SAF XDy k) —BEER 40 38 78 8.4 69.6
10| Had JETT Bk KEEI 77 BHEI-X 36 41 77 7.2 69.8
11{#8FE S BH SHRILTZEERS v 40 43 83 13.2 69.8
12|51#8 tE&& B KE£ES 77 REIA-X 41 41 82 12.0 70.0
13| 7oK 28 BH T =7 &hh 3L 7 {EEE 38 43 81 10.8 70.2
14|7% &7 Bk FAF VX h Y b Y —BEER 47 40 87 16.8 70.2
15| =48 X B T =7 &b 3L 7 EEE 43 44 87 16.8 70.2
16|4H #R Bk T =7 &hbh T 7EEER 39 41 80 9.6 70.4
17|#eoK &8 g SAF Y XDy k) —BEER 38 42 80 9.6 70.4
18| 7k Ak BH FrU—bLXTLTI5T 54 50 104 33.6 70.4
19| B 1R3E i T =7 &hh 3L 7 {EEE 46 44 90 19.2 70.8
20| RA Bl B T =7 &hbh T 7EEER 43 47 90 19.2 70.8
21| A Bk BH SAF Y XDy k) —BEER 44 46 90 19.2 70.8
22|40 H =Bk Bk FA v 2 — TN 7EERE 37 34 71 0.0 71.0
23|H| B Bt T =7 &hh 3L 7 EEE 41 36 77 6.0 71.0
24|51l B— B EREDPDAV Y —05T 42 41 83 12.0 71.0
25|HHEEE BH ALY RILTIL 7B 42 41 83 12.0 71.0
26| = HE Bl E PSR A= 7 45 44 89 18.0 71.0
27| B8 WL =i SAF XDy k) —BEER 44 45 89 18.0 71.0
28|18 #hEc Bk BT 7B 44 45 89 18.0 71.0
29| 5% RE BH BILE T 7{ERE 46 49 95 24.0 71.0
30(mnEE — Bk FAF Y ANh Y b —{BEER 36 34 70 -1.2 71.2
31T E= Bt T =7 &hh 3L 7 {EEE 36 40 76 4.8 71.2
R2(NHEEE Bk F YTy RILTILTEEE 37 39 76 4.8 71.2
33|4LM@ B A BH FA > & — TN 7EEE 42 40 82 10.8 71.2
34 ()1l #hEa Bk F YTy RILTILTEEE 42 46 88 16.8 71.2
35| @@ WL g SAF Y XDy k) —BEER 45 49 94 22.8 71.2
36|mlB KE = 74 LA PRI 7ERED 44 50 94 22.8 71.2
37|k B8 =i SAF XDy k) —BEER 39 36 75 3.6 71.4
38[1iA XIE Bk T =7 &hbh T 7EEER 40 41 81 9.6 71.4
39| At B BH BLE T 7{ERER 40 41 81 9.6 71.4

40| B Bl T =7 &hbh T 7EEER 41 40 81 9.6 71.4
41| R @ 3L% Bt B 5>y 7 T 7B 42 39 81 9.6 71.4
42(tBA IR Bk FNhy b U —BEE 41 46 87 15.6 71.4
43|28 =i BH XFEEV 77 BHEI—X 44 43 87 15.6 71.4
44 (% BT ogcd FAF VY Xh Y b Y —BEER 45 42 87 15.6 71.4
45|k @R BH ZREDPDAV Y —05T 42 45 87 15.6 71.4
46| ILHA BE = Fr)—bALXINTI5T 46 47 93 21.6 71.4
AT(nEkE —tB Bt SAF Y XDy k) —BEER 36 38 74 2.4 71.6
48| Il & Bl BAEF T 7B 37 43 80 8.4 71.6
49|hAt B Bt T — 7 &hh 3L 7 {EEE 44 42 86 14.4 71.6
50| A BR Bl 74 LA PRI 7ERED 47 45 92 20.4 71.6
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AL HRES TR ST 735 ouT IN GROSS HDCP NET
51|7xMH & Bt T =7 &hh 3L 7 {EEE 48 44 92 20.4 71.6
52| HA E Bl FNhv b U —BEER 40 33 73 1.2 71.8
53|dLiE F— Bt T =0 &b T 7EEE 43 36 79 7.2 71.8
54| KK B— Bk FNhy b U —BEE 41 38 79 7.2 71.8
55|F#E Bt 7 A4 LR MEZRTINTEERED 39 40 79 7.2 71.8
56|F#E sk Bk ZKR&hbAVEI—=0FT 37 42 79 7.2 71.8
57|58H #BFHF g SAF Y XDy k) —BEER 40 39 79 7.2 71.8
58| KIE | = TEEBIL7EEEE 0ADI—X 41 38 79 7.2 71.8
59|RH =7 Zik T =0 &b T 7EEE 42 43 85 13.2 71.8
60 (=41 17 Bk T =7 &hbh I 7EEER 46 39 85 13.2 71.8
61|/\M %954 BH FA > b Y —(BEE 43 42 85 13.2 71.8
62 [#0HE A Bk T =7 &hbh T 7EEER 40 45 85 13.2 71.8
63|8REH FEAR BH FA > & — TN 7EEE 43 42 85 13.2 71.8
64[EK =E Bk FA v & — TN 7{EERE 41 44 85 13.2 71.8
65|d0iE F— Bt T =0 &b T 7EEE 44 47 91 19.2 71.8
66 1R [l Bk T =2 Ehbh L 7 BER 43 48 91 19.2 71.8
67| KT & Bt T =7 &hh 3L 7 {EEE 44 47 91 19.2 71.8
68[H ™ R1E Bk T =7 hbh I 7EEER 45 46 91 19.2 71.8
69|t Ah3e i KFE¥0 77 BAEI-R 44 47 91 19.2 71.8
TO|EH ML B BAEF T 7B 46 45 91 19.2 71.8
T1| KA BiE BH FA > b Y —(BEE 48 55 103 31.2 71.8
72| ET = T =7 &hbh T 7EEER 39 39 78 6.0 72.0
T3|/NFE ESL BH SAF YDy k) —BEER 37 41 78 6.0 72.0
74|18H EE B FAF Y Xh Y b U —BEER 42 42 84 12.0 72.0
75|40 & BH FA > b Y —(BEE 45 39 84 12.0 72.0
T6[EH BiF B Fr)—bLXINTI5T 41 43 84 12.0 72.0
77|HUE fE— BH BLE T 7{ERER 40 44 84 12.0 72.0
78O 5= Bk FNhv b U —BEER 47 37 84 12.0 72.0
79|1RE BE BH FA > & — TN 7EEE 44 40 84 12.0 72.0
80(HH F ogcd FAF Y ANh Y b —{BEER 47 43 90 18.0 72.0
8L|1A P& eg T =0 &b T 7EEE 44 46 90 18.0 72.0
82|E+it UMY = FA > & — TN 7{EEE 44 46 90 18.0 72.0
83| MBI 4 BH AF¥Fr 57 ARI1—-2R 42 48 90 18.0 72.0
B4|H EEE Bk T =7 &hbh T 7EEER 49 47 96 24.0 72.0
85| F3Z #ER BH T =7 &b I 7B 41 42 83 10.8 72.2
86| Hhis &2 B FAF Y Xh Y b Y —BEER 43 40 83 10.8 72.2
87| MM &R BH SAF XDy k) —BEER 40 49 89 16.8 72.2
88| LH —5# B Fr)—bALXINTI5T 42 47 89 16.8 72.2
89| BR BT i KFEEVZ77 REI—-X 44 45 89 16.8 72.2
W[(FE EE Bl FAF VXA b Y —BEER 40 36 76 3.6 72.4
91| A Bt T — o L hh I T EEER 39 37 76 3.6 72.4
92|78 & Bk T =7 &hbh T 7EEER 40 42 82 9.6 72.4
93| &% 87 BH AFE¥r57 BAEI-R 41 41 82 9.6 72.4
94 [ZE Ml Bl ZKR&hbAYEI—=0FT 42 40 82 9.6 72.4
95|7RH EE Bt T =0 &b T 7EEE 44 44 88 15.6 72.4
96 [ LAY AKER Bk RLBFTIL 7 {EEER 45 49 94 21.6 72.4
97| En Tl Bt T =7 &hh 3L 7 {EEE 48 46 94 21.6 72.4
98|17k EH#AD ogcd FAF VXA b Y —BEER 45 49 94 21.6 72.4
99| JEE BH FA > & — TN 7EEER 49 45 94 21.6 72.4

100|E+ RR Bl T =7 &hbh T 7EEER 41 40 81 8.4 72.6
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AL HIRE R TR ST 735 ouT IN GROSS HDCP NET
101 | A 2T Zik T =0 &b TR 41 40 81 8.4 72.6
102 | 785 Bl FNhy b U —BEE 42 39 81 8.4 72.6
103| B4R B Bt T =0 &b T 7EEE 45 42 87 14.4 72.6
104 |58 fH E ogd FAF VXA b Y —BEER 41 46 87 14.4 72.6
105| i@ =8 F g FA > b Y —(BEE 43 44 87 14.4 72.6
106|/=H HE Bk T =0 &b T 7EEER 45 42 87 14.4 72.6
107|A)1 0 eg SAF Y XDy k) —BEER 43 44 87 14.4 72.6
108 [/k s+ = T =2 Ehh L 7 BER 43 44 87 14.4 72.6
109|f&l BH FIA > & — T TEEER 42 45 87 14.4 72.6
110\ &t B Fh> b Y —{BEEH 43 44 87 14.4 72.6
111|&) =X Zik T =0 &b T 7R 42 45 87 14.4 72.6
112|1&88 & B T = &hbh I 7 {EEER 45 48 93 20.4 72.6
113|484 17 =i B 5>y 7 DL 7855 44 49 93 20.4 72.6
114| B+ EEZBB Bk FA v & — TN 7{EERE 40 40 80 7.2 72.8
115|% BAEB BH 74 LR FEZARTILTEEE 40 40 80 7.2 72.8
116|€H 5L= Bk 74 LR FERITNTEEED 41 45 86 13.2 72.8
117|458 27 g FrU—bLXTLT7I5T 41 45 86 13.2 72.8
118|# L B R Bk KFEEVZ7 RBEI—X 43 49 92 19.2 72.8
119[iEK A Bt T =0 &b T 7EEE 49 49 98 25.2 72.8
120|% g 2>~ ¥ 3 ik FYULEy 7 TIL7EEE 51 53 104 31.2 72.8
121|4t78 K& Bt T =0 &b T 7EEE 40 39 79 6.0 73.0
122| =% B B SAF YNy b —{BEER 45 40 85 12.0 73.0
123|123 B Bt T =0 &b T 7EEE 45 40 85 12.0 73.0
124 |3k%5 %08 Bl FAF VY Xh Y b Y —BEER 44 41 85 12.0 73.0
125/ &R BH CEFIL7EEH 0503 —-2X 44 41 85 12.0 73.0
126+ /E 1= Bl T =7 &hbh T 7EEER 41 44 85 12.0 73.0
127| =18 B2 Bt T — o L hh T 7B 42 43 85 12.0 73.0
128|183 E 8B Bk BAEF T 7B 43 42 85 12.0 73.0
129| %5 BRI BH FIA > b —(BEE 40 45 85 12.0 73.0
130| &M E£XF ogcd TEEHIL7EEE Lhba—X 40 45 85 12.0 73.0
1313RAE A Bt T =0 &b T 7EEE 43 42 85 12.0 73.0
132|H#AR Kih Bk FAF VY Xh Y b Y —BEER 42 43 85 12.0 73.0
133|TER &7 i SAF Y XDy k) —BEER 46 45 91 18.0 73.0
134| K3 fofE Bk Ly F o) —=RINTEEE 47 44 91 18.0 73.0
135|2lE R Bt T =0 &b T 7EEE 47 44 91 18.0 73.0
136 54 B FIA >~ &=L 7B 45 46 91 18.0 73.0
137|#&E A+ BH HIEEF T 7R 47 44 91 18.0 73.0
138|#EA EA B Fr)—bALXINTI5T 46 51 97 24.0 73.0
139| M Rk BH FrU—bLXTLT7I5T 52 45 97 24.0 73.0
140| KT Ez B FAF VXA b Y —BEER 45 52 97 24.0 73.0
141|584 Fj5L Bt T =0 &b T AR 39 39 78 4.8 73.2
142 | Bk 28 ogd T =7 &hbh T 7EEER 41 37 78 4.8 73.2
143[ 1L s Bt T =0 &b T 7EEE 43 41 84 10.8 73.2
144|BFf 3% Bl A v 2 — TN 7EERE 38 46 84 10.8 73.2
145| =6 Boh BH SAF Y XDy k) —BEER 47 43 90 16.8 73.2
146 |+ B B Fr)—bLXINTI5T 46 44 90 16.8 73.2
147 | R&)I BT BH KFEEVZ7 REI-X 43 40 83 9.6 73.4
148|77H Hhta ogcd FNhy b U —BEE 36 47 83 9.6 73.4
149| £l AE=F i SAF Y XDy k) —BEER 40 43 83 9.6 73.4
150|dtA &= Bl FA v 2 — TN 7{EEE 39 44 83 9.6 73.4
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AL HRES TR ST 735 ouT IN GROSS HDCP NET
151|/b RE BH FIA > b —(BEER 45 44 89 15.6 73.4
152|521l #— Bl T =7 &hbh T 7EEER 46 43 89 15.6 73.4
153|#&A #47) BH KFEH¥Es 77 AEREI-R 48 41 89 15.6 73.4
154|&HE F% Bk ZKRET Y RLy FEER 49 46 95 21.6 73.4
155| &% BAE Zik T — o L hh I 7B 44 51 95 21.6 73.4
156| Rl &7 Bk T =0 &b T 7EEER 46 49 95 21.6 73.4
157 |H+ &= g CEFIL7EEE Lrba—2 48 47 95 21.6 73.4
158|7E7K HEF = HAEF T 7B 45 50 95 21.6 73.4
159 | ®5h Bt FIA > & — T TEEER 52 49 101 27.6 73.4
160|;AIEF /7 Bk ZKRET Y RLy FEER 54 47 101 27.6 73.4
161(%z JBEZ BH T =7 &b I 7B 52 55 107 33.6 73.4
162 |0 e ap Bk FAF VX h Y b Y —BEER 55 52 107 33.6 73.4
163|FH &t BH FIA > b —(BEER 37 39 76 2.4 73.6
164 | FriE ANk Bk FAF VX h Y b Y —BEER 39 43 82 8.4 73.6
165|h & FiE BH FrU—bLXTLT7I5T 37 45 82 8.4 73.6
166 | A4S Fist B EREDPDAV I —05T 45 43 88 14.4 73.6
167| 5+ e BH KFEH¥Es 77 AEI-ZR 42 46 88 14.4 73.6
168|FBH & Bk T =7 &hbh T 7EEER 45 43 88 14.4 73.6
169|375k Bt T =0 &b T 7EEE 45 43 88 14.4 73.6
170| &8 &7 = FNhy b U —BEE 49 45 94 20.4 73.6
171 k8 —1# Bt ALy RILTIL 7B 48 46 94 20.4 73.6
172|#H &= Bk RILB T 7{EEE 48 46 94 20.4 73.6
173|=H &R g SAF Y XDy k) —BEER 46 48 94 20.4 73.6
174|1%H EE Bl FA v 2 — TN 7{EEE 52 48 100 26.4 73.6
175+ E 1= Bt T =0 &b T 7R 40 41 81 7.2 73.8
176|5E &7 eqid FrU—bLXTLTI5T 44 37 81 7.2 73.8
177|387 & BH FrU—bLXTLT7I5T 40 41 81 7.2 73.8
178|7kME & Bk FNhy b U —BEE 43 44 87 13.2 73.8
179| & 4H BT =i SAF Y XDy k) —BEER 42 45 87 13.2 73.8
180| % B ogcd T =2 Ehbh L 7 BER 46 41 87 13.2 73.8
181(h %5 & BH FrU—bLXTLT7I5T 42 45 87 13.2 73.8
182|H L & = KFEIZ7 REIA—-2X 43 44 87 13.2 73.8
183|5AI%F A BH SAF Y XDy k) —BEER 42 45 87 13.2 73.8
184| & iLF ogcd HAEFTIL 7B 50 43 93 19.2 73.8
185|H MO IE Bt FrU—bLXTLT7I5T 44 49 93 19.2 73.8
186 | 54 B ZARET Y R Ly REEE 50 43 93 19.2 73.8
1872 M BAF) BH B 5>y 7 DL 7855 49 44 93 19.2 73.8
188|/EE EEHR Bk FAF VXA b Y —BEE 46 47 93 19.2 73.8
189|#R A B—EB BH HIEEFTIL 7R 41 58 99 25.2 73.8
190 | ¥ i A) BH FrU—bLXTLT7I5T 48 51 99 25.2 73.8
191 | 1L A0 BH HIEEF T 7R 52 53 105 31.2 73.8
192|124 Mk B T =0 &b T 7B 40 40 80 6.0 74.0
193[4E / M F&k BH ZRILVEREY v/ aI-2 41 39 80 6.0 74.0
194 |hneE £z B T =0 &hh T 7B 41 39 80 6.0 74.0
195 AR —#f BH SAF Y XDy k) —BEER 42 38 80 6.0 74.0
196|LEA E= Bk TEEHIL7EEE 0ADI—X 43 43 86 12.0 74.0
197 |k 2 F Zik T =0 &b T 7EEE 44 42 86 12.0 74.0
198|787k &KELF ogcd T =7 &hbh T 7EEER 44 42 86 12.0 74.0
199 ()11XH B BH KFEEV 77 REI—-X 41 45 86 12.0 74.0
200|#RAR IEE& Bl 74 LA PRI 7ERED 50 42 92 18.0 74.0
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AL HIRE R TR ST 735 ouT IN GROSS HDCP NET
201 A IEAD Bt T — o L hh I 7B 44 48 92 18.0 74.0
202 @M = Bl T =7 &hbh T 7EEER 43 49 92 18.0 74.0
203 (ALl = BH ZARET v R Ly FEEE 40 52 92 18.0 74.0
204|mEB AET ik Fr)—bALXINTI5T 43 49 92 18.0 74.0
205|#1L BT g T — o L hh I 7B 46 46 92 18.0 74.0
206 | A Fk ik Fh > b Y —{BEE 44 48 92 18.0 74.0
207 |HABR BH FrU—bLXTLT7I5T 47 45 92 18.0 74.0
208[ 1L HE B FHA > b Y —{BEE 46 52 98 24.0 74.0
209 | k3% ¥ BH 74 LR FZARTILTEEE 49 49 98 24.0 74.0
210|4kiB #F ogcd B 73y o TV TERE 45 53 98 24.0 74.0
211|/I\F8 £ BH SAF Y XDy k) —BEER 39 40 79 4.8 74.2
212 |7t BB Bl T =7 &b I 7ERER 45 40 85 10.8 74.2
213|&EA Eih Bt T =0 &b TR 48 37 85 10.8 74.2
214 | 7 B — Bk FAF VX h Y b Y —BEER 40 45 85 10.8 74.2
215|ithHH #B1% i KFEEVZ77 REI—-X 41 44 85 10.8 74.2
216 |8 & Bk FNhy b U —BEE 43 42 85 10.8 74.2
217 | R R eg T =0 &b T 7EEE 44 47 91 16.8 74.2
218|#hHE Fik Bk T =7 &hbh T 7EEER 46 51 97 22.8 74.2
219|hnigk 183 BH FIA > b —(BEE 51 52 103 28.8 74.2
220|177 B ik Fr)—bALXINTI5T 37 41 78 3.6 74.4
221|R%F ZupE BH CEFIL7EEE 0503 —2 40 38 78 3.6 74.4
222|% £ T = 74 LR FERITNTEEED 40 44 84 9.6 74.4
223| =B BUT BH FIA > & — T 7EEER 44 40 84 9.6 74.4
224 \LAR =EF =i FAF VY Xh Y b Y —BEER 44 40 84 9.6 74.4
225|4H B BH CEFIL7EEH 0503 —-2X 45 39 84 9.6 74.4
226|m R m—BB Bl FNhy b U —BEE 40 44 84 9.6 74.4
227 | &M BT =i SAF XDy k) —BEER 44 46 90 15.6 74.4
228|FH)I1 B Bk BT 7B 47 43 90 15.6 74.4
29| EHETF =i KFEEV 77 REI—-X 45 45 90 15.6 74.4
230|095 & Bk A v 2 — TN 7EERE 41 49 90 15.6 74.4
231 |8 T BH KFEEV 77 REI—-X 47 43 90 15.6 74.4
232k E=F = KE£I 77 BHEI-X 46 50 96 21.6 74.4
233|027 i FIA > b —(BEE 48 48 96 21.6 74.4
234|)11%5 Fl 2 Bk T =7 &hbh T 7EEER 50 46 96 21.6 74.4
235| K & BH HIEEFTIL 7R 45 51 96 21.6 74.4
236|534 E5h B T =7 &hbh I 7B 39 44 83 8.4 74.6
237| Wi EAY BH FIA > b —(BEE 42 41 83 8.4 74.6
238|E% T Bk FA v & — TN 7{EERE 46 37 83 8.4 74.6
239|MEF #E1= BH ALy RILTIL 7B 40 43 83 8.4 74.6
240|iNEME EE Bl FAF VXA b Y —BEER 42 41 83 8.4 74.6
241|878 AR BH 74 LR FZARTIL AR 43 46 89 14.4 74.6
242 | KH B3k B BLE L (AR 45 44 89 14.4 74.6
243|F L —E BH SAF Y XDy k) —BEER 43 46 89 14.4 74.6
244|828 R# Bl FAF VY Xh Y b Y —BEER 47 42 89 14.4 74.6
245| 7 367 g KFEEV 77 REI—-X 45 44 89 14.4 74.6
246(5FH & Bk T =7 &hbh T 7EEER 47 42 89 14.4 74.6
247\ Al 4% BH FIA v & — T TEEER 47 42 89 14.4 74.6
248 RE Bl FNhy b U —BEE 45 44 89 14.4 74.6
249|th3E ERTF i CEFIL7EEE 0503 —-2X 43 46 89 14.4 74.6
250|BiH & Bl FNhy b U —BEE 44 45 89 14.4 74.6
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AL HRES TR ST 735 ouT IN GROSS HDCP NET
251 |+ # B BH FrU—bLXTLT7I5T 45 50 95 20.4 74.6
252 | R Bl FAF VXA b Y —BEER 47 48 95 20.4 74.6
253|&H HFk BH Y F a2l —ZARTLIEXE 49 46 95 20.4 74.6
254|HH Bk T =7 &hbh T 7EEER 53 48 101 26.4 74.6
255 |FA M g FIA v & — T TEEER 47 54 101 26.4 74.6
256 | 7R & Bk T =7 &hbh T 7EEER 33 43 76 1.2 74.8
257|=4F L3 g FA > b Y —(BEE 40 36 76 1.2 74.8
258 [T FEIR Bk FA v 2 — TN 7EERE 39 43 82 7.2 74.8
259|108 A Bt T =0 &b T 7EEE 40 42 82 7.2 74.8
260 (/78 =, Bk FNhy b U —BEE 43 39 82 7.2 74.8
261|FAF & BH SAF Y XDy k) —BEER 47 41 88 13.2 74.8
262| 3 iz BH FrU—bLXTLT7I5T 43 45 88 13.2 74.8
2633 BF Zik T — o L hh T 7B 47 41 88 13.2 74.8
264 |E2 A T2k Bk ZKR&hbAV =0T 42 46 88 13.2 74.8
265t [L1E BH FIA > b Y —(BEER 46 42 88 13.2 74.8
266|ILHE Bt BH FrU—bLXTLT7I5T 43 45 88 13.2 74.8
2675 £ BH FA > b —(BEER 48 40 88 13.2 74.8
2681l 14X Bk FA > & — TN 7{EEE 51 43 94 19.2 74.8
269|H L B BH SAF Y XDy k) —BEER 50 44 94 19.2 74.8
270|F%kME FEE Bk T =7 &hbh T 7EEER 47 47 94 19.2 74.8
271|H0ER e g CEEFIL7EEE Lrba—2 49 45 94 19.2 74.8
272 | Ki% R1E Bk T =7 &hbh T 7EEER 50 56 106 31.2 74.8
273|IRA 58 Bt T — o L hh T T EEER 50 56 106 31.2 74.8
274|EH 2 B LY F a2y —=AKRTLTEEE 42 39 81 6.0 75.0
275| 6 H EA BH FA > b Y —(BEE 40 41 81 6.0 75.0
276|&F L EF ogcd FAF VXA b Y —BEER 41 40 81 6.0 75.0
277|AH Eth BH FIA > b —(BEER 42 39 81 6.0 75.0
278|KF ¥ Bk FTAF VY Xh Y b U —BEER 42 45 87 12.0 75.0
279|&H HFk BH FIA v & — T TEEER 43 44 87 12.0 75.0
28058 EF ogcd trF o) —=RINTEEE 44 43 87 12.0 75.0
281|E% =7 BH SAF Y XDy k) —BEER 43 44 87 12.0 75.0
282 [/ fi— B EREDPDAV NI —05T 45 48 93 18.0 75.0
283 | B 477 i FrU—bLXTLT7I5T 48 45 93 18.0 75.0
284|A1E AKX Bk FAF VX h v b Y —BEER 50 49 99 24.0 75.0
285 | AZF g 74 LR FEZARTIL AR 49 50 99 24.0 75.0
286 |1LIG B 7 XFEEVZ7 RBEI1—X 45 54 99 24.0 75.0
287 | SHH Hx BH SAF XDy k) —BEER 46 53 99 24.0 75.0
288|RHE &HEZ Bk FA v & — TN 7{EERE 36 38 74 -1.2 75.2
28915TA AT BH 74 LR FZARTILTEEE 40 40 80 4.8 75.2
290 Kfh 23 Bl KE£I 77 BHEI-X 41 39 80 4.8 75.2
291|118 =RR BH HIEEF T 7R 42 44 86 10.8 75.2
292t ESE Bk FAF VX h Y b Y —BEER 42 44 86 10.8 75.2
293|32[ BA BH SAF XDy k) —BEER 42 44 86 10.8 75.2
294|#21h BT ogcd FAF VY Xh Y b Y —BEER 40 46 86 10.8 75.2
295|BEA BT g BIFE L 7R 43 43 86 10.8 75.2
296 [T 1&F Bk BRIV 7EEE 0ADa—X 43 43 86 10.8 75.2
297 |mEp & BH SAF Y XDy k) —BEER 45 47 92 16.8 75.2
298| 3k 2} =hF Bl trFa ) —=RINTEEE 44 48 92 16.8 75.2
299 |ARE 215 BH ZARET v R Ly FEEE 48 44 92 16.8 75.2
3003 St Bl FAF Y Xh Y b Y —BEER 43 49 92 16.8 75.2
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JEZ HIRE R TR ST 735 ouT IN GROSS HDCP NET
301|8TH BE& BH F Uy RILTIL7EKE 44 48 92 16.8 75.2
302| AR HEF ogcd FA > 2 — TN 7{EERE 53 45 98 22.8 75.2
303 [Kk1E M7 BH FIA v & — T 7EEER 49 49 98 22.8 75.2
304 | Fkil BEX Bk FNhy b U —BEE 50 48 98 22.8 75.2
305 |24 Mk Bt T — o L hh I 7B 42 43 85 9.6 75.4
306|521l #a— B SAFIAh Y R —(BEE 39 46 85 9.6 75.4
307| T E= BH FIA v & — T 7EEER 42 43 85 9.6 75.4
308| LA BBF = HH > b U —(BEE 38 47 85 9.6 75.4
309 | A s BH F Uy RILTIL7EEE 42 43 85 9.6 75.4
310(&HE &A B SAF XA R —(BEE 39 46 85 9.6 75.4
311|=# B3k Bt FIA v & — T TEEER 44 41 85 9.6 75.4
312 | Bt B TEEEIL7EEE 0A50a—2X 39 46 85 9.6 75.4
313|[@E =T =i SAF XDy k) —BEER 46 45 91 15.6 75.4
314 |74 SiE Bk XFEEVZ7 RBEI1—X 44 47 91 15.6 75.4
315|ARM N g FIA > b Y —(BEER 45 46 91 15.6 75.4
316 ;&K & Bk FAF Y Xh Y b Y —BEER 46 51 97 21.6 75.4
317\ —2 Bt Fro/20—-RaL7057 51 46 97 21.6 75.4
318| KR K B FrO/2RA—-—FALTI5T 49 48 97 21.6 75.4
319 ()11 8 Bt T — o L hh I 7B 48 55 103 27.6 75.4
320 A FHAI Bk ZKR&bAVIEI—=0FT 52 51 103 27.6 75.4
321[/hR EF BH ZRILZEREY v/ aI-2 40 38 78 2.4 75.6
322|hiE & BH FrU—bLXTLTI5T 39 39 78 2.4 75.6
323| B #E BH SAF Y XDy k) —BEER 43 41 84 8.4 75.6
324 (M E w7 =i FAF VY Xh Y b Y —BEER 40 44 84 8.4 75.6
325|MEF FIE Bt T — o &b I 7B 42 42 84 8.4 75.6
326 |FRKk A Bl T =7 &hbh T 7EEER 41 43 84 8.4 75.6
327|E 1k =8 Zik T — o L hh T 7B 44 40 84 8.4 75.6
328| K& E£% Bk FHAH> b —EEE 42 42 84 8.4 75.6
329| i ES BH FIA v & — T TEEER 40 44 84 8.4 75.6
330 FH EZ Bk A v 2 — TN 7EERE 43 41 84 8.4 75.6
331|db7E &E BH ZRILZEREY v/ a-2 41 43 84 8.4 75.6
332|H+ RIE Bk Ly Fa ) —=RINTEEE 42 48 90 14.4 75.6
333 | M0 #ER Bt T — o L hh I 7B 53 37 90 14.4 75.6
334 L BRRE Bk Fr)—bALXINTI5T 41 49 90 14.4 75.6
335 [R 3L BH T =7 &b I 7B 50 40 90 14.4 75.6
336| 4K Al Bk T =2 Ehh L 7 BER 49 47 96 20.4 75.6
337|kA& =R BH FA > & — TN 7EEEH 47 49 96 20.4 75.6
338|EME #H= B Ty Fa ) —ZKRILTERE 53 43 96 20.4 75.6
339 |BEA HEA BH Ty Fal)—ZRTLIEKE 49 47 96 20.4 75.6
340[dR EF eqid T =7 &hbh T 7B 48 48 96 20.4 75.6
341[)1Rs Bz Bt FrU—bLXTLT7I5T 49 47 96 20.4 75.6
342\ HE Bk FAF VX h Y b Y —BEER 50 52 102 26.4 75.6
343[:FH Zik SAF XDy k) —BEER 52 50 102 26.4 75.6
344 | HE B Bl 74 LA PRI 7ERED 55 53 108 32.4 75.6
345|f BE BH KFEH¥Es 77 AEI-R 45 38 83 7.2 75.8
46| K& H BH FrU—bLXTNLT7I5T 44 39 83 7.2 75.8
347 |@A & BH KFEH¥s 77 AEI-ZR 40 43 83 7.2 75.8
348|HaR EE2 B Fr)—bALXINTI5T 39 44 83 7.2 75.8
349| k1L ZRE) BH SAF Y XDy k) —BEER 39 44 83 7.2 75.8
350|/VR #ie B FZh > b Y —{BEEH 44 45 89 13.2 75.8
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351|HH E£EF Zik T =0 &b TR 51 38 89 13.2 75.8
352 FZ Bl FNhy b U —BEE 46 43 89 13.2 75.8
353|/\EH BB— Bt SAF Y XDy k) —BEER 51 44 95 19.2 75.8
354 | =M €7 B T =0 &b T 7B 45 50 95 19.2 75.8
355 | At B B T =0 &b T AR 46 49 95 19.2 75.8
356 T = Bk FNhy b U —BEE 48 47 95 19.2 75.8
357 |EH g SAF Y XDy k) —BEER 50 45 95 19.2 75.8
358 |fEx EE Bk ZKRET NV RLy FEER 48 47 95 19.2 75.8
359 MR Fis BH ALy RILTIL 7B 48 47 95 19.2 75.8
360|RZ BT ik SAF Y ANh Yy b —{BEER 49 46 95 19.2 75.8
361|%@HH Z—EB BH FA > b Y —(BEE 52 49 101 25.2 75.8
362 | &iE BE = T =2 Ehbh L 7 BER 53 48 101 25.2 75.8
363|FE1t% BB Bt SAF XDy k) —BEER 51 50 101 25.2 75.8
364|E)I B8 B EREDPDAY NI —05T 41 41 82 6.0 76.0
365 | EE Hill BH FIA > b Y —(BEER 43 39 82 6.0 76.0
366 |#MH HwHETF ik T =7 &hbh I 7B 39 43 82 6.0 76.0
367 |#L FE BH HIEEFTIL 7R 42 46 88 12.0 76.0
368| 2R E£E BH FrU—bLXTLTI5T 43 45 88 12.0 76.0
369|521l #B— BH SAF Y XDy k) —BEER 44 44 88 12.0 76.0
370 |Fla X Bk BAEF T 7B 44 44 88 12.0 76.0
71| BE T& g 74 LR FEZARTILTEEE 42 46 88 12.0 76.0
372|#H ®iA Bk ZKRET NV RLy FEER 42 46 88 12.0 76.0
373 | &E BH FIA > b —(BEE 44 44 88 12.0 76.0
374|¥NHE B Bl FZh > b Y —{BEEH 47 47 94 18.0 76.0
375| Al Bk BH SAF Y XDy k) —BEER 49 45 94 18.0 76.0
376 TF Bl 74 LR FERITNTEEER 51 43 94 18.0 76.0
377 | &k K= =i Ty F a2l —ZARTLIEXE 46 48 94 18.0 76.0
378N R Bk T =7 &hbh T 7EEER 53 47 100 24.0 76.0
379| Bk sk BH FIA v & — T TEEER 54 46 100 24.0 76.0
380|4<H #HA B EREDPDAV Y —05T 50 50 100 24.0 76.0
381|BiIH B g CEFIL7EEEH Lrba—2 50 50 100 24.0 76.0
382|FER =& T ik BT UL 7 {EEE 54 58 112 36.0 76.0
383 A< EAD BH T =7 &b I 7B 44 43 87 10.8 76.2
384 ik fok Bk FAF VX h v b Y —BEER 44 43 87 10.8 76.2
385|=A H& BH FA > b Y —(BEE 45 42 87 10.8 76.2
386 |2% HE Bk FAF Y Xh Y b Y —BEER 47 46 93 16.8 76.2
387 |2 R Bt SAF XDy k) —BEER 44 49 93 16.8 76.2
388 |KJII A ik TCEEIL7EEE 0A50a—2X 43 50 93 16.8 76.2
389 |7 M= B SAF Y XDy k) —BEER 47 46 93 16.8 76.2
390[1LP s ik TCEEIL7EEE 0A50a—2X 44 49 93 16.8 76.2
391| A B& BH HIEEF T 7R 47 46 93 16.8 76.2
392|R8 EA Bk 74 LR FERITNTEEED 44 49 93 16.8 76.2
393|/IlEFE BH FIA v & — T 7EEER 52 47 99 22.8 76.2
394|ILN & Bl Ly Fa ) —=RINTEEE 47 58 105 28.8 76.2
395|%@+F 1Bt BH FA > b —(BEER 50 55 105 28.8 76.2
396 |/ M B Ty Fa ) —ZKRILTERE 40 40 80 3.6 76.4
397 | RR & BH SAF Y XDy k) —BEER 39 41 80 3.6 76.4
398|= s BAE Bl trFa ) —=RINTEEE 44 42 86 9.6 76.4
399| &tk =85 g B 5y 7 O 7{BEE 41 45 86 9.6 76.4
400|FF8 KR Bk T =7 &hbh T 7EEER 47 45 92 15.6 76.4
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AL HIRE R TR ST 735 ouT IN GROSS HDCP NET
401 |#H BF g SAF Y XDy k) —BEER 49 43 92 15.6 76.4
402|501l ES Bl FAF VXA b Y —BEER 47 45 92 15.6 76.4
403|4% A g Y F a2l —ZARTLIEXE 44 48 92 15.6 76.4
404 |48 E—EB Bk BAEF T 7B 43 49 92 15.6 76.4
405|78 FH) BH FrU—bLXTLT7I5T 44 48 92 15.6 76.4
406 |H0E EZ Bk HAEF T 7B 47 45 92 15.6 76.4
407 [#3F BB BH HIEEF T 7R 49 49 98 21.6 76.4
408|12H Bk HAEF T 7B 49 49 98 21.6 76.4
409 | K18 3hiE BH SAF XDy k) —BEER 47 51 98 21.6 76.4
410|%R 3hF ogcd XKFEI/Z7 REA—-X 55 49 104 27.6 76.4
A11|1kBE Bk BH FA > b Y —(BEE 50 54 104 27.6 76.4
41240 BT = FAF VX h Y b Y —BEER 54 50 104 27.6 76.4
A413| K& B =i FIA > b —(BEER 47 57 104 27.6 76.4
A14|KH 55 B FIA v &=L 7B 58 52 110 33.6 76.4
41540 JB— Bt SAF XDy k) —{BEE 41 38 79 2.4 76.6
416|EH EBTF ogd T =2 Ehbh L 7 BER 49 36 85 8.4 76.6
A17 | FAA 5 BH FIA v & — T 7EEER 46 39 85 8.4 76.6
418|MH3 FER B T =0 &b T 7B 42 43 85 8.4 76.6
4193887 1888 BH FIA > b —(BEE 46 39 85 8.4 76.6
420| & M7 = FAFVXh Y b Y —BEER 47 44 91 14.4 76.6
421 RHE =F g FA > b Y —(BEE 44 47 91 14.4 76.6
422K 5AE Bk FAF Y Xh Y b Y —BEER 41 50 91 14.4 76.6
423|H2 0 #E BH FrU—bLXTLT7I5T 47 44 91 14.4 76.6
424 |H 8= BH FrU—bLXTLT7I5T 45 46 91 14.4 76.6
4251l &R i FrU—bLXTLT7I5T 43 48 91 14.4 76.6
426 | B ER BAF ogcd FHlAH v b —{EEE 47 44 91 14.4 76.6
427 | @ A BH FIA v & — T TEEER 46 45 91 14.4 76.6
428| RIS EF ogd KFEIZ7 REIA—-2X 48 49 97 20.4 76.6
429| AR &7 BH CEFIL7EEEH 0503 —2X 44 53 97 20.4 76.6
430|HEH Bl Bk B IL 7 {EEER 51 52 103 26.4 76.6
431|FIFIZE HhIK BH AFE¥r57 BAEI-R 48 55 103 26.4 76.6
432| %% &5k Bk T =7 &hbh T 7EEER 59 50 109 32.4 76.6
433| TR % BH SAF Y XDy k) —BEER 46 44 90 13.2 76.8
434|ixME K% BH FrU—bLXTLT7I5T 42 48 90 13.2 76.8
435 |HfE BT g SAF Y XDy k) —BEER 48 42 90 13.2 76.8
436 |BkH E B SAF XA R —(BEE 45 45 90 13.2 76.8
437\ HE= BH FA > & — TN 7EEEH 46 44 90 13.2 76.8
438|ER FF ogcd BRIV 7EEE 0ADa—X 44 46 90 13.2 76.8
439510 8 BH FIA v & — T 7EEER 44 46 90 13.2 76.8
440 | B B Bl Fr)—bLXINTI5T 42 48 90 13.2 76.8
441 | Pk = Bt T =0 &b T TEEE 45 51 96 19.2 76.8
442 | RER B B FrO/2A-—FaALTI5T 51 45 96 19.2 76.8
A43|FRH % BH SAF XDy k) —BEER 48 48 96 19.2 76.8
A44| K78 H3E Bk B TIL 7B 46 50 96 19.2 76.8
A45|FIR T g FULEy 7T 7EKE 46 50 96 19.2 76.8
446 BT ik SAFIAh Y R —(BEE 50 46 96 19.2 76.8
A47|/NBF 5 BH FIA v & — T TEEER 52 44 96 19.2 76.8
448 |[EH H Bl FAF VXA b Y —BEER 51 51 102 25.2 76.8
A49|FEH TET i Ty F a2l —ZARTLIEXE 54 48 102 25.2 76.8
450|1R8 BEF ik Fr)—bALXINTI5T 49 53 102 25.2 76.8
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451 [4eiE %7 g FULEy 7T 7EKE 51 51 102 25.2 76.8
452|)11# = ogcd FA > 2 — TN 7{EERE 50 52 102 25.2 76.8
453 L7 tEsk BH ZREDPDAV Y —05T 55 53 108 31.2 76.8
A54|MF 2 BH FrU—bLXTLTI5T 40 43 83 6.0 77.0
455 | K7k 1R Bt T — o L hh I 7B 44 45 89 12.0 77.0
456 |EAfH RE ogcd FAF VP b Y —BEER 46 43 89 12.0 77.0
457 | REL 1215 BH 74 LA b =ARTIL7EEER 46 43 89 12.0 77.0
458| B s BAfE Bk FAF VXA b U —BEER 51 38 89 12.0 77.0
459 | it HR BH 74 LR FZARTILTEEE 44 45 89 12.0 77.0
460|7EH E1T Bk FHAHv b —EEE 47 42 89 12.0 77.0
461 iEFH B2 Bt SAF Y XDy k) —BEER 41 48 89 12.0 77.0
462| %2 Bk FNhy b U —{BEE 42 47 89 12.0 77.0
463 |FEHE &8 Bt T =0 &b TR 49 46 95 18.0 77.0
464|AH W E Bk BT 7B 45 50 95 18.0 77.0
465 | & E— Bt T — o L hh T 7B 43 52 95 18.0 77.0
466 |F + dip ik 74 LA FZARTILTEEER 46 49 95 18.0 77.0
467|HH Hia BH KFEH¥Es 77 AEI-ZR 52 43 95 18.0 77.0
468|Lit EEHK ik Fr)—bALXINTI5T 51 50 101 24.0 77.0
469|F &R BH FrU—bLXTLT7I5T 49 52 101 24.0 77.0
470[1L8Y EE = BAPE IL 7 {EEER 58 55 113 36.0 77.0
ATL|EER g SAF Y XDy k) —BEER 57 56 113 36.0 77.0
AT2|fE B= Bk FNhy b U —BEE 43 39 82 4.8 77.2
AT3| BB %% Bt T =0 &b T 7ERE 43 45 88 10.8 77.2
ATA| R BiE B Fr)—bLXINTI5T 47 41 88 10.8 77.2
AT5| Pk T ik T =0 &b T TEEE 46 42 88 10.8 77.2
476 | FeoK Sitlt Bl E PSR A= 7 44 50 94 16.8 77.2
477\ 1EDE =i FIA > b —(BEER 51 49 100 22.8 77.2
A78| KM XF ogd FULEy 7 TIL7EEE 54 58 112 34.8 77.2
479|fazr Hit BH SAF Y XDy k) —BEER 40 41 81 3.6 77.4
480|f2A Mk Bk T =7 &hbh T 7EEER 40 47 87 9.6 774
481 |FEE =T g SAF Y XDy k) —BEER 41 46 87 9.6 77.4
482 |13k F5EB Bk Fr)—bALXINTI5T 43 44 87 9.6 774
483 | M HtE BH FIA > b —(BEE 46 41 87 9.6 77.4
4343 AK MR Bk FNhy b U —BEE 42 45 87 9.6 774
485|F# KBh Bt ¥ /20—-RFaLT7057 41 46 87 9.6 77.4
486|114 E—EB Bk 74 LR FERITNTEEED 44 49 93 15.6 774
487()112% )2 Bt T =0 &b T 7EEE 48 45 93 15.6 77.4
4338 [@ &3k Bk FAF VXA b Y —BEE 46 47 93 15.6 774
489|ME BT i KFEEVZ77 REI—-X 50 49 99 21.6 77.4
490|4LfR FE ik FA > & — TN 7EERE 48 51 99 21.6 77.4
491)110 = Bt T =0 &b T AR 52 53 105 27.6 77.4
492[@#0 BIF ogd B s 73y o TV TERE 54 57 111 33.6 774
493|1EA B BH T =7 &b I 7B 62 55 117 39.6 77.4
494|521 18— Bl T =7 hbh I 7EEER 41 45 86 8.4 77.6
4951 F1T BH FrU—bLXTLT7I5T 40 46 86 8.4 77.6
496 |TREE 1952 Bk FAF VY Xh Y b Y —BEER 44 42 86 8.4 77.6
497 | Rk BXKER B SAF Y XDy k) —BEER 47 45 92 14.4 77.6
498 2= Bl T =7 &hbh T 7EEER 47 45 92 14.4 77.6
499 | AN IEA BH FIA > b —(BEE 43 49 92 14.4 77.6
5002 A FRk Bl T =7 &hbh T 7EEER 44 48 92 14.4 77.6
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AL HIRE R TR ST 735 ouT IN GROSS HDCP NET
501|#MH 5T g SAF Y XDy k) —BEER 44 48 92 14.4 77.6
502 | TR =18 B T =7 &hbh I 7EEER 47 51 98 20.4 77.6
503| &)1 Zih BH FIA v & — T 7EEER 51 47 98 20.4 77.6
504 | L IBF ogd TEEBIL7EEE 0ADI—X 51 53 104 26.4 77.6
505(Ff £ —2 BH ZART L 7ERE 56 48 104 26.4 77.6
506 |/)\& EBA Bk 74 LR MERITINTEEED 52 52 104 26.4 77.6
507 | &% — % BH FA > b Y —(BEE 46 58 104 26.4 77.6
508|511 F54 Bk FNhy b U —BEE 56 48 104 26.4 77.6
509 | Faft B A Bt T =0 &b T 7ERE 45 40 85 7.2 77.8
510(# 25 Bk BAEFTIL 7B 45 40 85 7.2 77.8
511|FE# EA BH FrU—bLXTLT7I5T 47 44 91 13.2 77.8
512|)11%% 1HEH Bk XFEEVZ7 RBEI1—X 45 46 91 13.2 77.8
513|iEH F= BH 74 LR FZARTIL AR 46 51 97 19.2 77.8
514|5E%F SR Bk ZREDDAV NI =0FT 49 48 97 19.2 77.8
515 I4R 27 i FIA v & — T 7EEER 52 45 97 19.2 77.8
516|E H&E ogcd FTAF VXA b Y —BEER 48 49 97 19.2 77.8
517| A+ #% g 74 LR FZARTILTEEE 52 51 103 25.2 77.8
5181 A Bk T =7 &hbh T 7EEER 51 52 103 25.2 77.8
519|%z 4732 BH SAF Y XDy k) —BEER 54 55 109 31.2 77.8
520 |fkME =17 Bk FAFVXh Y b Y —BEER 53 56 109 31.2 77.8
521|FE fith BH FA > b Y —(BEE 58 51 109 31.2 77.8
5223 A FE = FNhy b U —BEE 55 54 109 31.2 77.8
523|FBH & Bt T =0 &b T 7EEE 43 41 84 6.0 78.0
5241/ 8hz. B FHlAHv b —{EEE 44 46 90 12.0 78.0
525K M= B SAF Y XDy k) —BEER 46 44 90 12.0 78.0
526|FK s B T =0 &b T 7B 44 46 90 12.0 78.0
527 &L f Bt Fro/20—-RaL7057 43 47 90 12.0 78.0
528|#H WETF ik TCEEIL7EEE 0A50a—2X 44 46 90 12.0 78.0
529 |7 XK Bt T =0 &b T 7ERE 51 45 96 18.0 78.0
530|FkHE £— B FAF Y ANh Y b —{BEER 45 51 96 18.0 78.0
531|7%H ¥E Bt ZREDPDAV Y —05T 47 49 96 18.0 78.0
532|th3E ERF ik FHA > b Y —{BEE 49 47 96 18.0 78.0
533 | & Bt SAF Y XDy k) —BEER 53 49 102 24.0 78.0
534 |HnlE =2 B T =7 &hbh T 7EEER 50 52 102 24.0 78.0
535 |k BAk BH 74 LR FEZARTIL AR 47 55 102 24.0 78.0
536|Hm Bk E PSR M= 7 48 54 102 24.0 78.0
537|BA BT =i KFEH¥s 77 AEI-R 49 53 102 24.0 78.0
538|EiE Bk HAEF T 7B 49 53 102 24.0 78.0
539|iREF 17 i CEFIL7EEH 0503 —-2X 48 54 102 24.0 78.0
540(#21L B & Bl T =7 &hbh T 7EEER 50 52 102 24.0 78.0
541|E% B— BH SAF Y XDy k) —BEER 51 51 102 24.0 78.0
542 |82 $73C B SAF Y ANy b —{BEER 55 53 108 30.0 78.0
543 |BBHE K#H BH SAF XDy k) —BEER 51 57 108 30.0 78.0
544 (1L 77 B T =7 &hbh I 7B 41 42 83 4.8 78.2
545 [/ %534 Bt T =0 &b T 7EEE 41 42 83 4.8 78.2
546 (% 5T ik SAF Y IXNh Y b —{BEER 45 50 95 16.8 78.2
547 |+H BE BH KFEH¥s 77 AEI-ZR 42 53 95 16.8 78.2
548 | E =42 ogcd FNhy b U —BEE 50 45 95 16.8 78.2
549 |2 E—EB BH ZREDPDAVIY—05T 50 51 101 22.8 78.2
550 [ith TE&R Bl FAF Y Xh Y b Y —BEER 53 48 101 22.8 78.2




HOENR)—LF YLD

5 AEMMER

M =ZAHILIHE

BERAE: AINRYTHR smE& 781
B3R TE F ik FyhRa7IE B 579
&y MESEIEL : 1N\UTa¥vyT 250208 DENE 3ERE g 202
HDCPL[R: NUTA4¥ Yy T40ET
REBRE: B 128188 (K) 15 EHITILIEREER

LTOAEEEZSHBHELET, BEHERIE. BBICEFSE TV EEET,)

5% (BHE 14, BRHELRLHMA4L, 1004, 2004L, 3001L)

AL HIRE R TR ST 735 ouT IN GROSS HDCP NET
55187 4732 BH SAF Y XDy k) —BEER 54 53 107 28.8 78.2
552 |Ft E E=F ogcd Ly Fa ) —=RINTEEE 58 49 107 28.8 78.2
553|5AIR FHk BH ALY RZILTIL 7B 54 59 113 34.8 78.2
554 |FRE #E BH T =0 &b T 7B 43 45 88 9.6 78.4
555|228 BHE BH SAF Y XDy k) —BEER 44 50 94 15.6 78.4
556 [/ £k Bk T =2 Ehbh I 7 BER 49 45 94 15.6 78.4
557|F 1L = BH 74 LR FEZARTILTEEE 46 48 94 15.6 78.4
558 Fhil B Bk F YTy RILTIL7EEE 45 49 94 15.6 78.4
559 | ER BR BH FIA > b —(BEER 46 48 94 15.6 78.4
560 |1Ba amlf Bk FHAHv b —EEE 52 48 100 21.6 78.4
561|ALL A BH 74 LR FZARTILTEEE 42 58 100 21.6 78.4
562 | N B EREDPDAV NI —05T 52 48 100 21.6 78.4
563[EA BE— BH FIA v & — T TEEER 56 50 106 27.6 78.4
564 | 4R £2& Bk ZKR&hbAV =0T 54 58 112 33.6 78.4
565 | &8 H1T BH FrU—bLXTLT7I5T 41 46 87 8.4 78.6
566 [BEH 34 Bk T =2 Ehbh L 7 BER 46 41 87 8.4 78.6
567 |%&H FfT BH 74 LR FZARTILTEEE 49 44 93 14.4 78.6
568 |&IR &5k Bk FAF VXA b Y —BEER 44 49 93 14.4 78.6
569 |fA Fs BH ZART L 7ERE 45 48 93 14.4 78.6
570(FkHE FEE B FAFVXh Y b Y —BEER 48 45 93 14.4 78.6
571|FEB #E BH SAF Y XDy k) —BEER 55 44 99 20.4 78.6
572 [Nk EXAER B FrO/2A-FALTI5T 50 49 99 20.4 78.6
573|1LA FRE Zik SAF Y XDy k) —BEER 47 52 99 20.4 78.6
574|HE Fx ik SAF Y IXND Y b —{BEER 49 50 99 20.4 78.6
575| B kgt BH Ty Fal)—ZRTLIEKE 49 50 99 20.4 78.6
576|&F =& B KP¥Es 77 AEI-R 52 53 105 26.4 78.6
577|F4A 15 Bt T =0 &b T AR 55 50 105 26.4 78.6
578|ILF #F ogd FULEy 7 TIL7EEE 52 59 111 32.4 78.6
579|&mA BT =i Y FalU—ZARINLTEER 51 60 111 32.4 78.6
580 [ 1LiA ZER Bk FAF Y ANh Y b —{BEER 46 46 92 13.2 78.8
581|%%E EH Bt T — o L hh T 7B 45 47 92 13.2 78.8
582 |BEIR £i& B SAF Y IXNh Y b —{BEER 48 50 98 19.2 78.8
583| il & BH FIA > b —(BEE 45 53 98 19.2 78.8
584 |1l Fh— Bk FNhy b U —BEE 51 53 104 25.2 78.8
585 | flk Bt T =0 &b T 7EEE 53 51 104 25.2 78.8
586 |:E8 T3 Bk 74 LR FERITNTEEED 52 52 104 25.2 78.8
587 | =M BT =i SAF XDy k) —BEER 42 43 85 6.0 79.0
588|KXZE WT ik 74 LA PRI 7ERED 43 42 85 6.0 79.0
58924 Ml BH 74 LR FZARTILTEEE 44 47 91 12.0 79.0
590 (B%L TS Bl BAEF T 7B 45 46 91 12.0 79.0
591 |1l R =l BH *o/20-RaL7057 46 45 91 12.0 79.0
592 [BRAS &7 B SAF XA b —(BEE 50 47 97 18.0 79.0
593| & B = Bt FrU—bLXTLT7I5T 44 53 97 18.0 79.0
594 [BEE =3L B BLE L AR 47 50 97 18.0 79.0
595| Bl AR g KFEEV 77 REI—-X 48 49 97 18.0 79.0
596 | £ E8K B EREDPDAV I —05T 48 55 103 24.0 79.0
597 |2 H Bt g SAF Y XDy k) —BEER 53 50 103 24.0 79.0
598|BiE HIL B Fr)—bALXINTI5T 56 47 103 24.0 79.0
599|178 & F g ERATIL TEREL 54 49 103 24.0 79.0
600 |F 4R FTF ik KEFEs 77 AEI-R 55 54 109 30.0 79.0
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AL HRES TR ST 735 ouT IN GROSS HDCP NET
601|ff £ RIE Bt ZARET v R Ly FEEE 54 55 109 30.0 79.0
602 |8 Bz ik T =7 &hbh I 7B 57 52 109 30.0 79.0
603| & EA BH SAF Y XDy k) —BEER 63 52 115 36.0 79.0
604 |FEE M= B SAF XA R —(BEE 48 48 96 16.8 79.2
605|kH £ BH ZREDPDAVIY—05T 47 49 96 16.8 79.2
606 | RE Bk FNhy b U —BEE 50 52 102 22.8 79.2
607 1Ll B g BIFE L 7R 58 50 108 28.8 79.2
608|HH BEF = FAF VXA b U —BEER 59 55 114 34.8 79.2
609 [\ A0k Zik SAF XDy k) —BEER 45 44 89 9.6 79.4
610|hnmE B2 KA Bk FIA > &2 —T 7{EEER 47 48 95 15.6 79.4
611|==% 57 BH FIA v & — T TEEER 44 51 95 15.6 79.4
612 |k EE Bk FNhy b U —{BEE 46 49 95 15.6 79.4
613 (%M BB BH FIA > b —(BEER 56 57 113 33.6 79.4
614 (iR M@l B SAF XA b —(BEE 43 45 88 8.4 79.6
615|H4R B2 Bt SAF XDy k) —BEER 48 40 88 8.4 79.6
616 L R Bk BAEF T 7B 44 50 94 14.4 79.6
617 |7RH ¥E Bt SAF Y XDy k) —BEER 46 48 94 14.4 79.6
618|hniEk B ik FH > by —EEE 45 49 94 14.4 79.6
619|&K RE BH FIA > b —(BEE 50 50 100 20.4 79.6
620| &5 B Bk ZKR&bAVIEI—=0FT 53 47 100 20.4 79.6
621 | B Bt T =0 &b T 7EEE 51 49 100 20.4 79.6
622|RE 8% ik BRSO 7>y 7 T 7ERE 50 56 106 26.4 79.6
623 | Bl R i Ty Fa U —FNTLTEER 54 52 106 26.4 79.6
624|458 FERTF =i 74 LR FERITNTEEED 56 56 112 32.4 79.6
625|%7E £F i BIFE L 7R 54 58 112 32.4 79.6
626 EMH = ogcd FA > & — TN 7EERE 59 53 112 32.4 79.6
627 i A— Bt T =0 &b T 7EEE 47 46 93 13.2 79.8
628|ILA REY ogd FNhy b U —BEE 45 48 93 13.2 79.8
629 48T KB Bt T — o L hh I 7B 49 50 99 19.2 79.8
630| %7k B EREDPDAV Y —05T 51 48 99 19.2 79.8
631[I8E £ g FrU—bLXTLT7I5T 55 44 99 19.2 79.8
632|450 BEXE = EZKRTIL7EEED 47 52 99 19.2 79.8
633|158 B F i FIA > b —(BEE 49 56 105 25.2 79.8
634| =& B Bk trF o) —=RINTEEE 56 49 105 25.2 79.8
635|4)I| & BH ZREDPDAV Y —05T 54 51 105 25.2 79.8
636 |15 K B SAF YNy b —{BEER 52 53 105 25.2 79.8
637|#K B Bt ZREDPDAV Y —05T 42 44 86 6.0 80.0
638|7 BF ogcd FNAhv b U —BEED 43 49 92 12.0 80.0
639 |7 st BH SAF Y XDy k) —BEER 48 50 98 18.0 80.0
640( K% R BN B FIA > b Y —{BEER 49 49 98 18.0 80.0
641| T2 H& Bt SAF Y XDy k) —BEER 49 49 98 18.0 80.0
642 | K& A B T =0 &b T 7B 51 53 104 24.0 80.0
643|738 E/HE ik T =0 &b T TEEE 56 48 104 24.0 80.0
644 (12 AM=F 7 T =0 &hh T 7B 59 51 110 30.0 80.0
645| BT & BB— BH Fr/20—-RaLT7057 54 56 110 30.0 80.0
646 | @ A B SAF Y IXNh Y b —{BEER 43 42 85 4.8 80.2
647 |+ £ fIE Bt SAF Y XDy k) —BEER 47 44 91 10.8 80.2
648 |)I178 ZSRER B SAF XA R —(BEE 49 42 91 10.8 80.2
649|124 R BH FIA > b —(BEE 45 46 91 10.8 80.2
650| ARl 473 ik SAF YNy b —{BEER 52 45 97 16.8 80.2
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AL HRES TR ST 735 ouT IN GROSS HDCP NET
651 | H Eth Bt SAF Y XDy k) —BEER 48 49 97 16.8 80.2
652 |Hm & Bl FA > 2 — TN 7{EERE 54 49 103 22.8 80.2
653|%E HHY BH 74 LR FZARTILTEEE 48 55 103 22.8 80.2
654| A0 % B EREDPDAV NI —05T 46 57 103 22.8 80.2
655| B3 Sf& Bt Y F a2l —ZRTLIEXE 55 54 109 28.8 80.2
656 |11l HE— B FIA > b Y —{BEE 49 47 96 15.6 80.4
657| K% R H— BH FA > b Y —(BEE 49 47 96 15.6 80.4
658 | 28 5T B FAF Y ANy b —BEER 55 53 108 27.6 80.4
659|F 14 mE BH SAF XDy k) —BEER 52 56 108 27.6 80.4
660 [/ f2F Bk ZKR&hbAVEI—=0FT 57 51 108 27.6 80.4
661 | A Z— BH ZREDPDAV Y —05T 59 55 114 33.6 80.4
662 | E%F = = FA v & — TN 7EERE 59 55 114 33.6 80.4
663 | BRR fli— BH HIEEF T 7R 41 42 83 2.4 80.6
664 | Rk HEZ Bk ZKR&hbAV =0T 47 48 95 14.4 80.6
665|=H Bt ZREDPDAV I —05T 50 45 95 14.4 80.6
666 |AHE 5T ik T =7 &hbh I 7B 49 52 101 20.4 80.6
667|178 BBF ik T =7 &b T 7ERE 49 52 101 20.4 80.6
668|AH X&F = 74 LR FERITILTEEED 57 50 107 26.4 80.6
669 |ER BL BH FIA v & — T TEEER 52 55 107 26.4 80.6
670| 1 = ik SAF YNy b —{BEER 58 49 107 26.4 80.6
671|738 EHxE g I NV 44 50 94 13.2 80.8
672 |HEA ET = E PSR M= 7 50 44 94 13.2 80.8
673|Ff1= iB1T Bt FIA > b —(BEE 46 54 100 19.2 80.8
674|+TH Bt B T =0 &b T 7B 52 54 106 25.2 80.8
675|558 #F i FA > b Y —(BEE 49 44 93 12.0 81.0
676 |EA Bl B T =0 &b T 7B 50 49 99 18.0 81.0
677|EFH—& BH 74 LR FZARTILTEEE 47 52 99 18.0 81.0
678| AN W& =g FrU—bLXTLT7I5T 48 57 105 24.0 81.0
679|HH E£EF =i Ty Fa U —FNTLTEER 54 57 111 30.0 81.0
680 (1L Hhx 7 ERAT L 7ERE 55 56 111 30.0 81.0
681|[H & BH FIA v & — T 7EEER 60 57 117 36.0 81.0
682| ZH BEA Bk 74 LR FERITILTEEED 61 60 121 40.0 81.0
683|BRA F BH SAF Y XDy k) —BEER 51 47 98 16.8 81.2
684|RUE Rz B HAEFTIL 7B 58 46 104 22.8 81.2
685 |if) &40 Bt ZREDPDAV Y —05T 58 58 116 34.8 81.2
686 @M MF = trF o) —FITN7EEE 64 52 116 34.8 81.2
687|mH Hk Bt T — o L hh I 7B 43 54 97 15.6 81.4
688|/HER £/ ik Fr)—bALXINTI5T 51 46 97 15.6 81.4
689 |HF & |F A Zik SAF Y XDy k) —BEER 50 53 103 21.6 81.4
690 (L& M= Bl T =7 &hbh T 7EEER 56 47 103 21.6 81.4
691| L% IF3L Bt T =0 &b T AR 50 52 102 20.4 81.6
692|h#t 47EE Bk BT 7B 52 50 102 20.4 81.6
693|AF B Bt SAF XDy k) —BEER 57 45 102 20.4 81.6
694|RE FEF ogcd T =7 &hbh T 7EEER 50 52 102 20.4 81.6
695|/\f B Bt SAF Y XDy k) —BEER 56 52 108 26.4 81.6
696 |#l)I| EE B EREDPDAV I —05T 50 58 108 26.4 81.6
697|F Il BB F ik SAF Y XDy k) —BEER 61 59 120 38.4 81.6
698| = BHHHE ogcd FNhy b U —BEE 56 51 107 25.2 81.8
699|1EAK E&RTF i SAF Y XDy k) —BEER 66 53 119 37.2 81.8
700|7RHE &2 B Ty Fa U —ZKRILTERE 53 47 100 18.0 82.0
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AL HIRE R TR ST 735 ouT IN GROSS HDCP NET
701 Al K5 BH ZREDPDAV Y —05T 51 55 106 24.0 82.0
702|&F =5 B Ty Fa ) —ZKRILTERE 55 57 112 30.0 82.0
703 | Rk 28R BH KFEH¥Es 77 AEREI-R 63 55 118 36.0 82.0
T04 R HE— Bk T =7 &hbh T 7EEER 61 61 122 40.0 82.0
705|EHES i SAF Y XDy k) —BEER 62 60 122 40.0 82.0
706 |BEA HBiE Bk HAEF T 7B 50 55 105 22.8 82.2
707 3E#E 83X BH FA > b Y —(BEE 54 51 105 22.8 82.2
708|HvE BE = FA v 2 — TN 7EERE 54 51 105 22.8 82.2
709|ET —2 Bt 74 LA b=ARTIL7{EEE 58 59 117 34.8 82.2
710|EA B2 ik FULEy 7 TIL7EEE 53 64 117 34.8 82.2
T11| AL e — BH SAF Y XDy k) —BEER 51 47 98 15.6 82.4
T12|HE KX Bk HAEFTIL 7B 49 49 98 15.6 82.4
713K = Bt T =0 &b TR 55 55 110 27.6 82.4
T14|@8R T B Fr)—bALXINTI5T 53 57 110 27.6 82.4
715|178 BBF g B 5>y 7 DL 7B 63 59 122 39.6 82.4
716 |BER 145 Bk ZKRETUNY Ly FEER 49 54 103 20.4 82.6
717 [0 BB Bt SAF Y XDy k) —BEER 57 52 109 26.4 82.6
T18[1A 2R Bk FNhy b U —BEE 55 54 109 26.4 82.6
719|thE AT g ERATIL TEEEL 53 62 115 32.4 82.6
720|EJE —B Bk BAEF T 7B 50 46 96 13.2 82.8
721\ R BH SAF Y XDy k) —BEER 54 54 108 25.2 82.8
722 |1BA BER ik FHA > b Y —{BEE 54 54 108 25.2 82.8
T23| %R HETF Zik T =0 &b T 7EEE 47 54 101 18.0 83.0
724|120 TH B T =7 &b I 7B 53 54 107 24.0 83.0
725|114E EE BH FA > b Y —(BEE 51 56 107 24.0 83.0
726|1@HE BxE ik FIA >~ &=L 7B 55 58 113 30.0 83.0
T27[/NEF HER Zik FULEy 7 TN 7EKE 62 61 123 40.0 83.0
728|=H & Bk 74 LR FERITINTEEED 55 57 112 28.8 83.2
T29|HK BE BH FIA > b —(BEE 58 59 117 33.6 83.4
730t E2 Bk 74 LR FERITNTEEED 64 53 117 33.6 83.4
731| = FHEE BH ZART L 7ERKE 49 55 104 20.4 83.6
7327 E TR Bk FNhy b U —BEE 50 60 110 26.4 83.6
733| A =% Bt T =0 &b T AR 62 60 122 38.4 83.6
734|M0% BE ik FIA v &=L 7B 54 55 109 25.2 83.8
735| K8 £ T g FA > b Y —(BEE 57 58 115 31.2 83.8
736 |ILH AUE Bk FNhy b U —BEE 50 52 102 18.0 84.0
737 | BH 74 LR FZARTILTEEE 59 49 108 24.0 84.0
738|ZH BE Bk FAF VXA b Y —BEE 55 52 107 22.8 84.2
739[2H E BH FA > b Y —(BEE 61 52 113 28.8 84.2
740 [ R 2 B EREDPDAV I —05T 57 62 119 34.8 84.2
TA1EEE —4% BH FA > b —(BEE 53 65 118 33.6 84.4
742| EH mE Bk Ly Fa ) —=RINTEEE 58 53 111 26.4 84.6
43| EE NEE g FrU—bLXTLT7I5T 45 53 98 13.2 84.8
T44 | % FIRE Bl FNhv b U —BEER 49 49 98 13.2 84.8
745\ IR mE BH FIA v & — T 7EEER 46 52 98 13.2 84.8
746 |50 FiE BH FrU—bLXTNLT7I5T 43 48 91 6.0 85.0
TAT [/ R BH SAF Y XDy k) —BEER 52 57 109 24.0 85.0
748|@)I EiE Bl FNhy b U —BEE 55 54 109 24.0 85.0
T49| 4k F)1T BH FIA > b —(BEE 59 50 109 24.0 85.0
750 %A —IE BH FrU—bLXTLT7I5T 40 56 96 10.8 85.2
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AL HRES TR ST 735 ouT IN GROSS HDCP NET
751|114 Bh— B HIREF I 7 BRI 52 56 108 22.8 85.2
752 | &l 585 Bl KEEIZ77 BHEI-X 67 53 120 34.8 85.2
753| KR B8 BH ZREDPDAV Y —05T 65 48 113 27.6 85.4
7541 EII 722 F ogd FHAH> b —EEE 59 60 119 33.6 85.4
755K A HiE BH ZREDPDAVIY—05T 57 55 112 26.4 85.6
756 =% & Bk F YTy RILTIL7EEE 54 58 112 26.4 85.6
757 | &M 21T BH SAF Y XDy k) —BEER 60 52 112 26.4 85.6
758 k= Bk 74 LR FERITNTEEED 57 60 117 31.2 85.8
759| il B BH ZREDPDAV Y —05T 55 54 109 22.8 86.2
760 |RAT KE ogcd FNhy b U —BEE 54 61 115 28.8 86.2
761 |1RE ¥R BH FA > b Y —(BEE 61 59 120 33.6 86.4
762 |1LA B2ER Bk E =R = 7 63 64 127 40.0 87.0
763|EH Bt =i SAF XDy k) —BEER 49 51 100 12.0 88.0
764 |f@H =8B B T =7 &hbh T 7B 57 71 128 40.0 88.0
765 |2 it T g FrU—bLXTLT7I5T 61 50 111 22.8 88.2
766 | B Sk Bk ZKR&hbAV =0T 61 56 117 28.8 88.2
767 |BER EE B 74 LR MEZRTINTEERED 62 61 123 34.8 88.2
768 |t —i& B EE T 7B 53 45 98 9.6 88.4
769 [#H KED B 7 A4 LR MEZRTINTEERED 57 53 110 21.6 88.4
770|m LA B SAF YNy b —{BEER 67 62 129 40.0 89.0
771|785 &R BH ZREDDAVIY—05T 69 60 129 40.0 89.0
72|88 RIT B FHA > b Y —{BEE 67 62 129 39.6 89.4
13| =R #EF oqid 7 A4 LR MEZRTINTEERED 65 67 132 40.0 92.0
TT4| 1L 56 Bl FNhy b U —BEE 63 69 132 40.0 92.0
75| L ER Bt LY F a2l AR TEEE 65 71 136 40.0 96.0
T76|AK & ik 74 LA PRI 7ERED 73 67 140 40.0 100.0
TT7|BEAR BT =i KFEH¥Es 77 AEI-R 69 73 142 40.0 102.0
TT8| KK BF ogd FAF VX h Y b Y —BEER 74 68 142 40.0 102.0
79| EKR 2iE BH FIA > b —(BEE 73 75 148 40.0 108.0
780|HF E2 B BRI 7{ERE 57 67 124 10.8 113.2
781|EE BT g SAF Y XDy k) —BEER 83 83 166 40.0 126.0




